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NOTE WELL:
For problems: You must show enough work to justify your answer in the space provided with each problem.  No credit will be given unless work is shown.  Partial credit may be given ONLY IF your work is clearly labeled.  Be sure to read all questions carefully and answer them completely.  Do all work on this test booklet.  

Points are as marked.

Points sum to 100 exclusive of extra credit.

Note that later questions tend to carry more points.

The penalty for academic dishonesty in this course is an “F” grade for the course and the immediate commencement of due process proceedings for permanent dismissal from The University of Mississippi. There are no lesser penalties and no exceptions.


Name:  ________________________________

Multiple Choice: Select the one best answer for each question and mark your choice on yout Scan-Tron answer sheet. 1 point per correct answer. 

1.
The expected return on an investment is:

a. Just another way of saying “required return”. They mean the same thing.

b. Greater than the required return if the investment has a positive NPV.  

c. Less than the required return if the investment has a positive NPV.

d. More than one of the above.

e. None of the above.

2.
If the values of two investments have a correlation coefficient with each other of zero, then:

a. It must be true that there is no variability in the value of at least one of the assets

b. It must be true that there is no variability in the values of both assets

c. It must be true that the expected value of at least one of the assets is zero

d. More than one of the above

e. None of the above   

3.
Which of the following items represents an incremental cash flow?

a. A shut-down (terminal) cash flow for the project   

b. Overhead (fixed) expenses for the company

c. R&D costs that were invested over the last year

d. Two of the above

e.  All of the above

4.
Which of the following is(are) characteristic(s) of a well-diversified portfolio?

a. Total risk equals zero

b. Unsystematic risk equals zero

c. Total risk equals systematic risk

d. A and B

e. C and B   

5.
The Capital Asset Pricing Model, as represented by the Security Market Line, shows

a. The minimum expected return that investors should require as compensation for the non-diversifiable risk they bear by owning an asset

b. That owning stocks with higher systematic risk will always produce higher returns

c. The cost of equity for a company’s stock given the ß for the stock

d. Two of the above  

e. All of the above

6.
Changes in the cost of equity capital for a company are related to changes in each of the following factors EXCEPT:

a. Investors’ expectations concerning inflation

b. The amount of debt the company uses

c. The riskfree rate of interest

d. The sensitivity of the company’s stock price to changes in the prices of other stocks

e. None of the above are exceptions   

7.
In any given time period, if Security X is perceived by investors as having greater non-diversifiable risk than Security X, then according to the Capital Asset Pricing Model:

a. X’s actual rate of return will always be greater than Y’s

b. X’s required rate of return will always be greater than Y’s

c. X and Y could have the same actual rate of return

d. A and B are both correct

e. B and C are both correct   

8.
According to the Capital Asset Pricing Model and portfolio theory, which of the following conditions is sufficient by itself to guarantee that two risky securities will have identical dollar prices in the market?

a. They have the same Beta coefficients

b. They have the same expected rates of return

c. They have the same required rates of return

d. Both assets’ prices are consistent with the conditions reflected in the Security Market Line

e. None of the above.  

9.
Everything else held constant, which of the following events should decrease a company’s weighted average cost of capital?

a. An increase in the expected rate of inflation

b. An increase in the general level of demand for corporate securities of all types  

c. A decrease in the market price of the company’s bonds

d. More than one of the above

e. None of the above

True/False: Mark whether each statement is true or false on your Scan-Tron answer sheet.

1 Point per correct answer.

10. The larger the annual depreciation associated with a project, the larger will be the annual incremental cash flow, other things equal.   

11. A good indicator of an investor’s risk exposure if he or she holds a single asset is the expected value of the asset’s returns.  

12. The standard deviation is a numerical indicator of how possible values are distributed around the mean.  

13. A stock that has a ß of 1.20 will tend to have a larger price movement (in percentage change) in reaction to a surprise announcement about its quarterly earnings than would an average-risk company.  

14. All else equal, an increase in the Debt/Equity ratio for a company will increase its systematic risk.  

15. The Internal Rate of Return (IRR) is the discount rate that makes the required return on an investment equal to zero.   

16. The MIRR for an investment will always be less that its IRR as long as there is only one IRR for the investment.  

17. All projects that have an expected return that is less than the firm’s cost of capital should be rejected.

18. The larger the annual depreciation associated with a project, the larger will be the annual incremental cash flow, other things equal.   

19. The required rate of return on any corporate security will always exceed the riskfree rate if there is a possibility that the actual rate of return on the security will not equal the expected rate of return.   

20. As the risk aversion of the average investor in the market increases, the cost of capital for all companies will increase – other things equal.   

21. Retained earnings (capital generated by reinvesting earnings) have the lowest cost of capital of all capital sources for a company since the funds were generated from the operations of the company and no new securities had to be issued.   

22. Diversification eliminates the impact of the risk of any single stock in a portfolio.  

23. If the correlation between the rates of return for two securities is zero, then you could compose a portfolio of these two securities that would eliminate ALL risk from the portfolio.   

24. A major difference between systematic and unsystematic risk is that unsystematic risk is caused primarily by unexpected events while systematic risk is primarily caused by expected events.   

25. The Beta coefficient relates the volatility of the historical rate of return on a given stock to the volatility of the historical rate of return on the market index.  

26. A stock with a ß of 2.0 has twice as much diversifiable risk as the average stock.   

27. According to portfolio theory, at equilibrium the expected return equals the required return for all securities.   


28. According to portfolio theory, a stock is overpriced when its expected return exceeds its required return.  

29. Diversifiable risk refers to the component of total risk that is caused by fluctuations in the economy as a whole and can be virtually eliminated if enough stocks are held in portfolio.   

30. If a stock’s price were to increase substantially the day that a surprise announcement of a dividend increase was released, this would be evidence of a violation of strong-form market efficiency.   

31. An increase in the tax rate for a company will increase its WACC, other things equal.  

32. The “random walk” concept associated with the efficient markets hypothesis says basically that it is not possible to predict future stock price movements using past price information.  

33. The Wall Street Journal dartboard contest was a good test of market efficiency because the contestants’ stock picks were compared to a well-diversified portfolio composed of stock randomly selected by throwing darts at the stock listings.  

34. In the October 8 Wall Street Journal article on Sears stock, this is evidence that the market is not strong-form efficient.   

35. EVA is an estimate of true “economic” profit, and is calculated as net operating profit minus an appropriate charge for the opportunity cost of capital invested in an enterprise.   

Short Answer: In the space below, answer ONE of the following questions. Cross out the questions you are NOT answering. 5 Points
You are evaluating two projects that are mutually exclusive and have equal life spans, but do not have equal costs. Explain the relative advantages and disadvantages of IRR, MIRR, and NPV for choosing between such projects. Describe the proper way to choose between these investments.

Retail firms generally report higher earnings for the quarter that includes the Christmas shopping season than they do in other quarters. In an efficient market, would you expect the stock prices of these firms to also peak around Christmas. Why or why not?

Suppose the required return on Amazon.com’s common stock was 20% one year ago but it is 12% today. Using what you know about portfolio theory, beta, and the SML, list and briefly explain all of the factors that could account for this change.

Give an example of an industry category that you would expect to have high Beta’s on average, a category that you would expect to have low (but still positive) Beta’s on average, and a category you would expect to have negative Beta’s on average. Justify your choices with references to the material we covered in class as it relates to the industries you chose.

Problems: Record your final answer in the space provided. Show enough work to justify your conclusion or no credit will be given. Partial credit may be given on some problems if your work is neat and computational steps are clearly labeled. Points are as marked.

1. 
Consider the following two projects and their cash flows:

	Time
	A
	B

	0
	-200,000
	-140,000

	1
	75,000
	50,000

	2
	75,000
	50,000

	3
	75,000
	50,000

	4
	60,000
	50,000


The discount rate for both projects is 12%. 

a. What is the IRR for Project A?  Answer: ___________________ [2]

b. What is the MIRR for Project B?  Answer: _________________ [2]

c. What is the payback period for Project B? Answer: ______________ [2]

d. What is the Equivalent Annual Annuity for Project A?   Answer: _______________ [2]

e. What is the Profitability Index for Project B?   Answer: ___________________ [2]

f. What discount rate would make the projects have the same NPV?   

Answer: _________ [2]

2. A company has preferred stock outstanding with a $5 annual dividend and a market price of $40.00. The next dividend will be paid tomorrow. What is the appropriate cost of preferred stock to use to estimate the firm’s WACC?

Answer: __________________________ [2]

3. You conclude that a project has a payback period of exactly 5 years, based upon expected cash flows of $ 250 million each year for the next 5 years. Assuming a cost of capital of 10% and constant cash flows over time, how many years the project will have to continue to yield a positive net present value.

Answer: __________________________ [2]

4. You are analyzing projects for a firm with a capital budget of $ 150 million. The table below summarizes the projects that are available to the firm and the net present values of these projects. 

Project
Investment needed
Net Present Value

A
$ 35 million
  $   5 million

B
$ 15 million
  $   3 million

C
$ 35 million
  $ 10 million

D
$ 25 million
  $   8 million

E
$ 45 million
  $ 15 million

F
$ 10 million
  $   5 million

G
$ 15 million
  $   5 million

H
$ 20 million
  $   7 million

Which projects should you accept, given the capital rationing constraint? [3]

5. You need to determine the appropriate discount rate to use to evaluate an average-risk capital project. Your company is financed with debt and common stock. The current capital structure has been determined to be optimal for this company. The marginal tax rate is 34%.

Your company currently has one issue of long-term bonds outstanding with 8 years remaining to maturity, a 9.5% coupon rate (semi-annual payments) and a $1,000 par value.  The next coupon payment is due in exactly six months. The market yield to maturity on these bonds is currently 11%. The total book value of this issue is $125,000,000 and this is the only long-term debt in the capital structure. Your investment banker feels that new 20-year bonds could be sold at par at the same yield to maturity as the existing bonds. Your company also currently has a short-term bank loan for $25 million (7.0% rate) that is used to carry the company through the peak selling season, after which it is paid off within a few months. 

The company has 12,500,000 shares of common stock outstanding. The next expected dividend (one year from now) is $1.85 per share and dividends are expected to grow at a constant annual rate of 5% throughout the foreseeable future. The stock's ß is 1.60, the rate on 1-year Treasury Bills is 4.5%, the rate on 20-year Treasury bonds is 7.5%, and the market risk premium is 6%. 

What is the WACC for the company (two decimal places  XX.XX%) based on this information? Provide a justification for the riskfree rate that you choose for the CAPM.

Answer: _______________  [12]

6. Consider the following information concerning two risky investments and one riskless investment.



                                         

     RETURNS

Economy
Prob.

   A

    B

T-Bills 

   Bad

.35

 -1%

    -2%

   5.5%

   Fair

.45

 13%

   12%
 
   5.5%

   Good

.20

 24%

   30%

   5.5%

Asset A is a well-diversified portfolio composed of 100 stocks.  Asset B is a portfolio of a few risky investments. 

a.
Complete the following table:  [10 Pts.   -5 Points for each wrong or absent answer -- Zero minimum]

	       ASSET-->
	A
	B
	T-Bills

	Expected Return
	
	
	

	Standard Dev. of Return
	
	
	

	Correlation with Asset A
	
	
	

	Correlation with T-Bills
	
	
	

	Beta Coefficient
	
	
	


b.
Suppose you want to form a portfolio from any or all of the assets listed above such that your portfolio has a beta of 0.75. What would be the rational composition of your portfolio?

[3]
Wt in A: _________         Wt. in B: ___________     Wt. in T-Bills: __________

c.
Suppose you decide to purchase $50,000 of A using $30,000 of your own money while borrowing the rest at the riskfree rate. What will be the expected rate of return on this position?

[2]
Answer: _______________        

7. A company is considering expanding its production of one product by replacing an existing production line with a newer and more efficient one. The existing equipment was purchased three years ago for $200,000 and is being depreciated using the straight-line method over 5 years (two years remaining) to a zero book value at the end of the fifth depreciation year. This equipment has a current market value of $60,000. This equipment requires a constant investment in net working capital of $85,000. If this equipment is used for three more years, it is expected to have a market value of $20,000 at the end of that time. This equipment generates $80,000 in annual revenue and $50,000 in annual expenses.

The proposed new equipment has cost of $250,000 and will be depreciated by 3-year ACRS-class rules using these percentages (.3334 in the first year, .4444 in the second year, .1481 in the third year) over the THREE years that the line will be used. This equipment requires a constant investment in net working capital of $60,000. If this equipment is used for three more years, it is expected to have a market value of $85,000 at the end of that time. Delivery, installation, and setup costs for the new equipment will total $50,000 in one-time costs. This new equipment is expected to generate $230,000 in annual revenue and $105,000 in annual expenses.

The company's marginal tax rate is 40%.  The appropriate discount rate is 13.0%.  Answer the following questions.  Show all relevant work in the space provided here.  LABEL EVERYTHING CLEARLY.

a.
Net Cash Outlay at t=0: $_______________ [4]

b.
Net Cash Flow at t=1: $_________________ [8 Total]

Net Cash Flow at t=2: $__________​_______ 

Net Cash Flow at t=3: $__________​_______ 

Work:

Based on your answers above, determine the NPV for the project.

Answer: _________________ [2]

Extra Credit: Answer any TWO of the following questions for 3 points per question. No partial credit. Cross out the two questions you are not answering. Show your work on the following sheet. Write neatly.

Sapco Enterprises is a firm that derives 60% of its value from steel and 40% from construction. The firm has 100 million shares outstanding trading at $ 70 per share, and debt outstanding of $ 3 billion (market value). The firm currently has a beta of 0.9. The firm is considering borrowing $ 4 billion and buying a software firm. If the unlevered beta of software firm is 1.2, estimate the beta (to 2 decimal places) for Sapco after this transaction. (The tax rate is 40%)

You are analyzing a project and have arrived at a net present value of $ 75 million. You realize that you have forgotten to consider working capital investments when estimating the after-tax cash flows. The project has expected revenues of $ 100 million next year, growing at 20% a year for the next four years. The working capital requirement is 20% of revenues, with investments in working capital at the beginning of each year. Assuming that all of the working capital investments can be salvaged at the end of year 5, and that your cost of capital is 12%, estimate the correct net present value with working capital considered.

You are considering whether you should replace all of the copiers in your building or out-source your copying needs. You estimate that it will cost $ 25 million to replace all the copiers and that your annual costs will be $ 1.5 million. If you outsource your copying, you expect the costs to be $ 7.5 million a year forever. How long a life will the copiers need to have for you to break even between the two alternatives? (You can assume a cost of capital of 10% and no taxes or depreciation).

Healthy Foods Inc is considering introducing a new line of dried flowers. The firm expects to be able to generate $ 4 million in revenues from this new line, each year for the next 10 years. Customers who come to buy the flowers often buy the firm’s traditional offerings (fresh fruit and baked goods) and it is anticipated that the revenues on these goods will increase from $ 14 million to $ 17 million as a consequence. The firm has a 60% pre-tax operating margin on all of its products. Assuming a 8-year life, a 10% cost of capital, a 40% tax rate and no salvage value or depreciation, what is the maximum that you would be willing to invest in this new product line?

